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The accident took place at 8.45 outside Peterson
Primary School and involved a child (A) riding a bike
to school, in collision with a child (B) entering the
infant school. No serious injuries were caused but
Child B sustained a grazed knee and Child A scraped
his arm. Injuries were dealt with within the school
medical room and no further treatment was required.
The bike suffered minor scratching to the paintwork.

Causes of the accident as determined by
headteacher’s investigation.

The accident appears to have been caused by:

« inattention from Child A;

 unexpected movement by Child B;

» many children entering the school site via
one gateway;

» no marked separation o

At 08.40 Child B arrived a
accompanied by her moth

cyclists and pedestrians.

the school gate
er. The pair did not enter

the gate, but stopped on the pavement outside the
school to talk to a neighbour. The mother was holding

Child B’s hand but after a

ew minutes let go of it.

Child B saw a classmate in the school playground

and, without warning, ran

hrough the gate heading

diagonally towards the playground.
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Child A had left home at 8.40 to cycle to school

as usual. As he approached the gate he passed
agroup of friends and slowed down. Turning into
the school gate, he twisted his head to shout back
to these friends and so was not aware of the child
running in front of him. The resulting collision
knocked Child B over. Child A fell off his bike as
aresult of an abrupt stop caused by applying his
brakes hard. He fell to one side thus scraping his right
arm. Fortunately he was wearing a cycle helmet and
so suffered no head injuries.

The funnelling of all children into one entry point
causes some crowding. This is potentially dangerous
and the possibility of further entry points should

be explored.

There is no clear distinction between road and
pavement at the school entrance and so it is likely
that cycles and pedestrians will use the same space.
Clear cycle paths should be demarcated or cycles
should be rerouted into the vehicle entrance to

the school.




